THR2OFE AHMERIRR

EilzmE HENES EL:IENESS B 8 BB 18 B8 #H B
406252 el e BrRoZ W] HEHKRIEGERE | of 0 2« HUIRAAER i 3
T KES
IREHOKRIEEE | of 0 FTEEERE (RFTEE28, ) o 11,569
EREASESHAD H30.1.157%) 20,125 A RS o | A 3,200 VNS 7 3
L EHIKES —
= REYEKREER | 2,890,000 EIE: 7 0
(SBBKICHNDBDED) 2 IEEEE
RIEHEKAD 7T o
s G BEBKCANZED) A 0 SIERMAR A 0
it 7 ox N
e b X13 2 po—— e
] 8 B B REPACEBR | 0 BEREE B T 1
FILE m 159,634 BSotmaen | A 0 e i 2
B TKBEE | MEEZRHKBES KR RRE - TRAE
i ot 2,096,382 REPAREER | 0 SEBEY | A 0
ERITL it 11 RS o | A 0 A it 8
B - SRR —— DR —
R Zoft CE 2 CBEKADSED nt 0 SEBRY A 0
sBE HEAITT of 144,540 BESAAD 0 B 7 3
mi& INRIEESHK IR EES KT RIESE
Zots ot 10,890 REKRKAER | 0 SEBER | A 2
a8 (= b= 886 J=a=5+ - ISV RUEAD A 0 i &7 1
= = - P zotp |V -
SHREEE P Pl 886 SHUEREEVEAD A 9,654 T SERSN A 4
BBIER (HEAD m 136,385 _ |ThEJRYIYINESR = i 3 SR & 6
REF - trEee
WBILER (FhEA) m 51,567 Bt —BPBIFHAS IR (BT i 0.0 SIEBEH A 0
MEAD A 5550 | [MEER S | PERITIHEE B i 0 ETE Sl 2
L/ElK }gﬁﬁ;gl — B%J:ﬁﬂt}ﬁt’%
BEEEY) FRMBINES Kl 9,345 * —EPBIBHAB TS | BT #i7 0.0 HEREN A 0
A2 pEe WIEAO A 19,988 mwe s | DOAIIIREER ELE (RiT 0 " e (i 3
M = PRI
FRIMINES ) 4,762 Toh | _memmsiie® | Es | Ee 0.0 SEMEN | A 0
BT A 79 = gyt |FRIEEE | HEIATIINES B i 0 EjE i 3
EZKE e A T=
—HEHESE | A 0 8% =LA —BBIFHAS IR | BT i 0.0 SRS A 0
k&S | #6KAD -
Bk BT A 0 gms | OGS B i 0 Ry — B i 2
PSR | _memmss | o 0 ™A _memmsies mra @ 0.0 BEOR B i 0
REBKAD | A 1,544 . IR | THETAY TIMEES EERTEL fET 0 BROR SRS A 0
IREENEES
SEHKRISERE | nf 990,000 SR | BT IIiEES EERTEL fET 0 A ! FET 88
2 =X
RESKREEE | nf 340,000 & E YHE | OISR ElES T 0 LETE nf 4,562
ST RIMBIN | i 1 R _ |BE GELIENpVAiE EERTEL THAT 0 Ti (i i 1,354,607
B [CCol FHEE
TKES | AHETFKE RIS | 77 1 21 EB | of 163,521
RBEHE
SHENSREEE | of 990,000 Tt (o) nf 1,451,942
ZBE
PEMSRIGERE | of 340,000 21 EB | of 4,959
BEMEREAAD | A 1,544 THRRREES Tih (i i 0
e
FHOKHETRERAD | A 1,359 ZDHOEE T (S ot 0




